Standard Duty MGM A10-184

28"(71 cm) DOUBLE LOCKING STOWABLE PEDESTAL MOUNT
USE WITH MAGMA MARINE KETTLE GRILLS

The double locking mechanism ensures a secure fitfor your boat orhome application. The pedestal locks into the mounting
base and the grill locks to the pedestal. The grillis instantly removable from the pedestal with a simple push-button release.
The pedestal alsois instantly removable from the mounting base with a push-button release that allows the pedestal to be
unthreaded and removed for storage. The low profile threaded twist-lock surface mountbase just5/8" talland 7" diameterwith
a5-3/4"bolt pattern. There is no need to cut a hole in your deck. Made of durable aluminum with a brushed satin finish, itis
perfect for swim platforms, boat decks, pontoon boats, or athome on the patio, balcony, or deck.

Includes . Tools Required
@ o % ﬁ
[~
LIx Vit =)

Recommended [cs’eners, M4 o/ head se [-tapping screws or 1/4"-20 oval head
macch ne scre s Fastener sty e depends on c''achmen? oca’ on or ma'erc

@ PEDESTAL BASE PLATE ATTACHMENT FASTENERS NOT INCLUDED

INSTALLATION

. Pedestal base; remove black push button spring lock assembly from base
andsetasideforlateruse. NOTE: Thegrillmountingbracketisinstalledto

the grey aluminum mounting pad diagonally ata 45° angle (see Fig. 1). @
e

-

Fully attach pedestal tube to base plate; with top lock button hole facing
forward, place assembly in bestaesthetic position exactly as youwish to
use it (grill's back parallel to back or sides of boat or patio is usually best o
appearance). Markone holeineach side of base and remove for drilling.
Drill holes for screws or bolts depending on application (not provided).
Replace base and loosely screw or bolt down base and reinstall pedestal to
ensure correct positioning. When positionis correct, remove pedestal,
mark and drill remaining holes. Install black push button spring lock
assembly into base plate, add bedding compound, and screw or bolt base
down in permanent position.

2. Using a Phillips head screwdriver and 7/16" socket wrench with the
supplied 1/4"-20 x 1" pan head screws, flat washers, and lock-nuts, attach
grill mounting bracket diagonally (see Fig. 1) to the grey aluminum
mounting pad (flat side towards mounting bracket).

3. Attach black pedestal cap to grey aluminum mounting pad using supplied
1/4"-20 x 1/2" pan head screws with bracket and lock button hole
facing forward.

4. Install pedestal tube to pedestal base and attach black pedestal cap/grill 0 4
mounting bracket assembly to pedestal tube. Tubes locking button will §yz
engage into black cap. Once mount is assembled, thread grill onto \

mounting bracket assembly and adjust grill so handle is facing forward (see
grill assembly instructions for grill adjustment instructions). =

MAGMA PRODUCTS, LLC
A10-184 3940 PIXIE AVE. - LAKEWOOD, CA 90712 MADEINTHE

TEL:(562)627-0500+FAX: (562)627-0550 U.S.A.
MagmaProducts.com « mail@MagmaProducts.com

81-184B 0221




